VSI09-STAND-11

770735

SCREW M4X12
FOR DISPENSER

ALLEN SCREW (M4X3.2) 8
SCREW M4X8 8
FOR BACK

OVAL-SCREW-PLATE 8
2.5MM ALLEN KEY 1

All of the above in sealed polybag with spare part
number 770735 stamped on bag.

770736

SCREW M4X12 4
FOR DISPENSER

ALLEN SCREW (M4X3.2) 4
SCREW M4X8 2
FOR BACK

OVAL-SCREW-PLATE 2
2.5MM ALLEN KEY 1

All of the above screws, nuts and key in sealed
polybag inside another sealed polybag with tray.
Spare part number 770736 to be stamped on outer

poly bag.



